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SET-A

Who wrote the book Indiz Wins Freedom?

{A) Akhilesh Tilotia {B) Amitav Ghosh

(C) Maulana A.K. Azad (D) A. B. Vajpayee

World Milk Day is celebrated on:

(A) 1 June (B) 3 June (C) 5 June {D} 7 June
Rearing of silk worms for the production of silk fiber is known as:

{A) Sericulture (B) Aquaculture (C) Apeculiure (D) Pisciculture
‘Satriya' is the Classical Dance of which state.

(A) Arunachal Pradesh  (B) Assam (C) Rajastan (D) Bihar
Which festival is also known as *Mahakumbh of the East*?

{A) Hornbil] Festival (B) Moatsu Mong

(C) Ambubachi Mela (D) Bihu Festival

Who has taken the historic task of decorating the original mamuscript of the Constitution of
India?

(A) Nandalal Bose {B) Abanindranath Tagore
(C) Prem Behari Lal (D) Rabindernath Tagore
In which of the following years were the first Oscar awards presented?
(A) 1920 (B) 1923 (C) 1929 (D) 1933
What is the Milk of Rubber plant called”
(A) Latex (B} Reisen (C) Rubber (D) Polymer
Scientific name of Neem 15?7
(A) Azadirachta indica (B) Ocimum tenuiflorum
(C) Mangifera indica {D} Ficus religiosa
The Tropic of Cancer passes through which of the state
{A) Madhya Pradesh (B) Maharashtra (C)y Kamataka {1y Odisha
Which is the world’s first airport 10 fully run on solar power?
{A) Dubai (B) Vancouver (C) Cochin (D) Zurich
12. Who led Mahad Salyagraha?
{A) Mahatma Gandhi (B) Dr. B. R. Ambedkar
{C) Acharya Vinoba Bhave (I¥) Bal Gangadhar Tilak
13. The provision for establishment of Supreme Court of Calcutias was made in which Act?
(A} Regulating Act of 1773 (B) Indian Council Act, 1861
(C) Charter Act of 1813 (D) Pitt"s India Act, 1784

14. Who discovered the x-rays”

(A) Maxwell (B) Wilhelm Roentgen
{C) Faraday (D) Hertz
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SET-
15. In the human body, fats are stored in the ﬁ

(A) Epidermis (B) Adipose tissue  (C) Liver (D) Epithelium
16. What does airbag, used for safety of car driver, contain?

(A) Sodium bicarbonate (B) Sodium azide

(C) Sodium nitrite (1) Sodium peroxide

17. Ten-rupee note contains the signature of
{A) Finance Secretary, Government of India  (B) Chairman, Reserve Bank of India
(C) Finance Minister, Government of India (D) Governor, Reserve Bank of India

18. Gilt-edged market is

(A) Bullion market {B) Market of government securities
{C) Market of guns (D) Market of pure metals
19. Who was the first woman to become a Chief Election Commissioner of India?
(A} V. 5. Ramadevi (B) G. D. Das (C) S.K. Bedi (D) B.M. Nikam
20 In which year the first General Election was held in India afier independence?
(A) September 1947 - January 1948 (B) March 1948 — July 1948
(C) January 1950 ~ May 1950 (D) October 1951 — February 1952
21. When was the last carth summit held
(A) 2012 (B) 2014 (C) 2016 (D) 2018
22. During the Election of President in 2022, President Draupadi Murmu clear edge over.
{A) Nitish Kumar (B) Yashwant Sinha
{C) Mallikarjun Kharge (1)) Jairam Ramesh
23, Assamese got Gl Tag
{A) Kati Bihu (B) Gamacha (C) Chaklang (D) Siraj
24. Who is the President of Indian Olympic Association’s executive Couneil
(A) Ms. M.C. Mary Kom (B) Ms. P.T, Usha
{C) Ms. Rajlaxmi Singh Deo () Lt. Gen. Harpal Singh

25, Full form of FSSAI is
iA) Food Safety and Standards Authority of India
(B) Food Security and Standards Authority of India
{C) Food Safety and Standards Association of India
(D) Food Secority and Safety Authority of India

26, Lviv is in which Country

{A) Russia (B) Ukraine (C) Georgia (D) Armenia
27. Chernobyl 1s famous for

{A) Nuclear Power Plant failure (B) Gold Mine

{C) Coal Mine ([¥) Hydro Power Plat Failure
28. First woman to win olympic medal for Indis

{A) Mary Kom (B) Saina Nehwal

(C) Karnam Malleshwari (D) P.V. Sindhu

(2)



SET-A
29, The first Asian Games were held in

(A) Manila {B) Tokyo (C) Jakarin (D) New Delhi
30. Full form of INTERPOL

(A) International Criminal Police Organ

(B) International Criminal Police Organization

(C) Internal Criminal Police Office

(D) International Crime Prevention Organization

31. A continuous process of change is known as

(A) Flux (B) Dvnamism (C) Metamorphosis (D) Transformation
34. People who belong 1o the same country

(A) Patrions (B) Comrades {C) Compatriots (I¥) Matives
33. Reasoning method involving two statements from which a comclusion is reached

(A} logism {B) syllogism (C) rhetoric (D) rthapsody
4. A person between 90 and 100 vears old.

{A) septusgenarian {B) nonagenarian (C) centenarian (D) octogenarian
35, Choose the one which best expresses the similar meaning of ‘Bequeath’

(A) Disclose {B) Scold (C) Surround (D) Give
6. A hater of marriage

{A) Misogamist (B) Celibate (C) Betrothed (D) Elope
37. Engaged to be married

{A) Betrothed (B) Banns {C) Trousseau (D)) Misogamist
38. A man having more wives at a lime

(A) Polvandry (B) Polygamy (C) Group Family (D) None of these
3, Ante-diluvium means

(A) Old time (B) Up-to-date CrAwZ (D) None of these
4. He doesn't work with hands. he works the machine.

(A) with (B) by {C)at (D) on
41. If E = 5 and HOTEL = 12, then LAMB will be

(A} 7 (B) 10 {C)26 (D) 28

42, One day. Tim left the home and cycled for 10 km southwards, turned right and cycled 5 km,
Then he again turned night cycled 10 km and turned left and cycled 10 km. How many
kilomeires will be have to cyele to reach his home straight?

(A) 10 km (B} 15 km (C) 20 km (D) 25 km

43, Jessi walks 10 kilometres wowards north, From there, be walks & kilomerres iowards South,
Then. he walks 3 kilometres towards East. How far and in which direction 15 he with
reterence to his starting point?

(A) 5 kilometres West (B) 5 kilometres North-East
(C} 7 kilometres East (D} 7 kilometres West

3



T SET-A
44. If INDIA is written as 914491, the DELHI will be written as?

(A) 45389 (B) 451289 (C) 45489 (D) 451279

45. A number consists of three digits whose sum is 10. The middle digit is equal 10 the sum of
the other two and the number will be increased by 9% if its digits are reversed. The number is:
(A) 145 (B) 253 (C) 370 (D) 352

46. If .m.t number obtained by interchanging the digits of two digit number is 18 more than the
orginal number and the sum of the digits is 8, then what is the original number?

(A) 26 {B) 35 (C) 53 (D) MNone of these
47. The ratio 5:4 expressed as percentage is equal to:
(A) 12.5% (B) 40% (C) BO%: (D) 125%

48. F, () and R are three typists who working simultaneously can type 216 pages in 4 hours, In
one hour, R can type as many pages more than O as O can type more than P. During the
period of 5 hours, R can type as many pages as P can during 7 hours. How many pages does
each of them type per hour?

(A) 14,1720 (B) 15,17,22 (C) 15,18,21 (D) 16,18,22

49. A can complete & piece of work in the same amount of time as B and C together take to complete
the same werk. A and B together can complete that work in 10 days and C alone can complete it
in 50 days. How many days will it take for B to complete the work alone?

(A)20 (B) 24 {C) 25 (D) 26

50. Three persons are walking from a place A to B. Their speeds are in the ratio of 4:3:5. The
lime ratio o reach B by these persons will be;

(A) 4:3:5 (B) 5:3:4 (C) 15:9:20 (D) 15:20:12

sl Lila 15 more studious that Kim. Kim is oot as studious as Pooja. Kajal is not as siudious as
Kim or Pooja. Who is in the last degree of being studious?

(A) Lila (B) Kim (C) Pooja (D) Kajal

52. The time by a watch is 1:30. If the hour points towards west, in which direction will the
minute hand point?

{A) North - East (B) North — Wesl {C) South — East (D) South — Wesi

53, The mother of five students, A, B, C, DD and E have different professions, i.e., teaching,
music, medicine, law and architecture. A’s mother is not an architect but E's mother is a
singer. B's mother teaches while C's mother practice medicine. D's mother is not a lawyer.
Whose mother 15 a lawyer?

(A) A (B) B (C)C (D) E
54. If A=5, B=6, C=7, D=8, then the numbers 16, 5, 27, 29, 9, 22, 23 will give a word
{A) Teacher (B) Lawyers (C) Crawler (D) Trainer

55, If every 2 out of 3 readymade shirts need alterations in the sleaves, every 3 out of 4 needs
alterations in collars and every 4 out of 5 need it in the body, how many alterations will be

required for 60 shirls?
(A) 24 (B) 123 (C) 133 (D) 143
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SET-A

56. In a class, 20% of the members own two cars each, 40% of the remining members own three
curs each and the remaining members own only one car each. Which of the following
statements is definitely true from the given statemenis?

(A) Only 20% of the total members own three cars each,
(B) 48% of the toial members own only one car each.
(C) 60% of the total members own at feast rtwo cars each.
(D) B0% of the tolal members own al least one car.

57, A wotal of 324 coins of 20 paisa and 25 paisa make a sum of Rs 71. The number of 25 paisa
Coins is
(A) 120 (B) 124 (C) 144 (D) 200

58. A man wears socks of two colors — black and brown. He has altogether 20 black socks and
20 pink socks in the drawer. Supposing he has to take ool the socks in the dark, how many
must he take out to be sure that he has a matching pair?
(A)3 (B) 20 (C)39 (D) None of these

58, Abbs cut 4 cake into two halves and cut one half into smaller pieces of equal size. Each of
the small preces s 20 grams in weight. If she has seven picces of the cake in all with her,
how heavy was the original cake?

(A) 120g (B) 140g {C) 240g () 280g

6l). Al the end of a business conference the ten people present all shake hands with each other
once. How many handshakes will be there altopether?

(A) 20 (B) 45 (C) 55 (D) 90

61. ‘B° happened 1o be a member of unlawful assembly. A factional fight ensued during which
‘B’ was injured and retired 10 the side, later on a man was killed. Now:

{A) ‘B’ is guilty of murder being member of unlawful assembly

(B) "B’ is not guilty of murder as he ceased 1o be 8 member of unlawful assembly at the time
when the murder was committed

(C) B is not guilty of murder, but lesser offence

(D) Mone of the abowve

62. Which of the following is not an ingredient of abetment?
{A) instigating (B) engaging in conspiracy
(C) intentional aiding (D) enticement

63. Which onc of the following is an essential ingredient of sedition?
(A) Dishonest inlention
(B) Mala fide intention
(C) Words spoken must cause public disorder by scis of violence
(D) Exciting disaffection towards the Government

(5



&4 Which from the followings is correct: i

(A) Whtn. W0 or more persons by fighting in a public place, disturb the public peace, they
are said 1o commit an affray, '
(B) ‘i-'v'hr:nl five or more persons by fighting in 2 public place, disturb the public peace, they
are said to commit an affray, '
(C) When five or more persons by fighting i i i i
1 £ In a private place, disturbh the puhl i
10 commit an affray, ; PSR

(D} When two or more persons by fighting in a private place, disturb the public, they are said
o commil an affray.

65. The act of God causes injury to no one means
{(A) Actus dei nemini facit injuriam (B} ad hominem
(C) Ut res magis valet quam pereat (D) Fraus et jus nunquam cohebitant
66. Which is incorreet from the followings that “a Hindu male shall not adopt except with the
consent of his wife unlessthe ™
{A) wife has renounced the word
(B) has become insolvent
(C) has ceased to be s Hindu
(1)) has been declared by a court to be of unsound mind

67. As per The Hindu Adoptions and Mainienance Act, 1956, maintenance includes .
(A) provision for food, clothing, residence, education and medical attendance. entertalnment
and treatment;
(B} provision for food, clothing, residence, education and medical attendance, transponation
ind reatment;
(€} provision for food, clothing, residence, education and medical sttendance and treatmen:
{D) all the above;

68. Which from the followings is not a form of marriage under Muslim Law?

(A) Tavih marriage (B) Sahih marriage
(C) Batil marriage (D) Fasid marriage

6%. Which of the following is not a tort?
{A) Defamation (B) Negligence
(C) Culpable Homicide (D) Nuisance

0. A loud bass beal that can be heard through an apartment wall (from another apariment) at

midnight can be classified as
(A) Nuisance (B) Trespass
(C) Interference with contractual relations (D) Conversion

T1. What 13 meant by the term “actionable per se'?
(A} Actionable only in the ¢ivil courls
(B) A tort of strict liability
(L) Actionable withoul proof of damage
(1)) Actionable at the instance of the injured pariy on

(6)
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72. The pigeon-hole theory for the law of tort was given by:
(A) Winfield {B) Lord Macaulay
{C) Salmond (D) Austin

73. The main difference between libel and slander is that

{A) Libel concerns adults only; slander, minors only

(B) Libel concerns minors only; slander, adults only

(C) Libel concerns those things spoken; slander, those things in print

(D) Libel concemns those things in print; slander, those things spoken
74, *Consensus ad idem’, means

(A) Contract caused by mistake of one party as 10 matier of fact

(B) Both the parties to an agreement are under a mistake

(C) An agreement upon the same thing in the same sense

(D) None of the above

75. X owes Rs. 15,000/~ to Y and Y accepts Rs. 12,000y~ in full and final settlement of the
outstanding dee. This is called:

(A) Cancellation (B) Remission (C) Alteration (D) Concession
76, If the finder of goods does not return the goods to true owner. He will be guilty of

{A) Fraud (B) Criminal misappropriation of goods

(C) Extortion (D) Thefi

77, Liquidated damages is essentially a
{A) Payment of money stipulated as a warning to the atiending pany
(B) Payment of compensation determined by the courl
(C) Compensation arbitrarily determined by the aggrieved pany
(D) Genuine covenanted pre-estimate of damage

78. When an acceptance may be revoked:

(A)AR acceplance may be revoked at any time before the communication of the acceptance
is complete as against the proposer, but not afterwards,

(B) An acceplance may be revoked al any time before the communication of the scceplance
15 complete as against the scceptor, but not afterwarnds.

(C) An acceptance may be revoked at any time before the communication of the acoeplance
is incomplete as against the acceptor, but not afterwards,

(D) An scceptance may be revoked at any time after the communication of the acceptance is
complete as against the acceptor, but nol alterwards,

79. Which one of the following Amnicles of the Indian Constitution belongs to o differeni
category?
(A) Article 14 (B} Article 15 (C) Article 16 {12} Article 19
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B0, What does the writ of Quo Warranio mean?
(A)it is issued when an office holder is found 0 misuse his duties
(B) it is issued when a court wanis to order & lower court or similar authority to transfer some
maiter pending before it 1o other courts or other authorities
(C)it is issued by higher courts when they find that lower courts have made judgments
beyond their powers of jurisdiction
(D)it is issued when the court finds that the office holder is illegally holding that position

81. Who said this: “There is nothing to be ashamed of in barrowing. It involves no plagiarism.
Nobody holds any patent rights in the fundamental ideas of a Constitution™
(A) Dr. Rajendra Prasad (B) Pi. Jawnharlal Nehru
{C) Dr. BR Ambedkar {D) N. Gopalaswami

8d. Which one of the following Constitutional Amendmenis introduced the anti-defection
provision in the Constitution for the first time?

(A) 54" Amendment (B) 53" Amendment
(C) 52" Amendment (D) 51" Amendment
83. Which amendment of the constitution was challenged in Janhit Abhiyan vs Union Of India
(A) 85" Constitutional Amendment (B) 92 Constitutional Amendment
(C) 103" Constitutional Amendment (D) 105™ Constitutional Amendment
B4, On which day Doctrine of Basic Struciure was lay down
(A) 15™ April 1973 (B) 18" April 1973
(C) 24™ April 1973 (D) 30™ April 1973
BS. Ninth Schedule of the Constitution was added by which Constitution Amendment?
{A) 1% Constiturion Amendment (B) 11" Constitution Amendment
(€) 42™ Constitution Amendment (D) 44" Constitution Amendment
86, Article 21-A of Constitution of India was added by which Constitution Amendment?
(A) 84" Constitution Amendmeni (B) 85" Constitution Amendment
(C) 86" Constitution Amendment (D) 87" Constitution Amendment
87. Who is the founder of the historical school? .
{A) Savigny (B) Kelson {C) Grotius (L¥) Duguit

88, Who said that “Public Policy is an unruly horse where once you stride on it you do not know
where it's going to take you.”

(A) Justice Borrough (B) Blackstone

{C) Stammler (D) Montesquicu
89. Who wrote the book “the concept of law ™™

{A) Blackstone (B} Duguit {C) Bentham (D) Hart
M. Who made a statement that “certainty of law is a myth?™

(A} Jerome Frank {B) Julius Stone {C) Bentham (D) Paton

(8}
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91. According 1o whose theory, “Law is not universal in its nature; like language it varies with

people and age™?

(A) Bentham's theory (B) Austin’s theory
(C) Savigny's theory (D) Montesquieu's theory
92. How many official languages does the United Nations have?
(A)5 (B) 6 (C)7 (D)4
93, In which vear was the UNO awarded the Nobel Peace Prize?
(A) 1975 (B) 1999 (C) 2001 (I¥) 2008
04. Who was the first Indian to be the President of U. N. General Assembly?
(A) Natwar Singh (B) V. K. Krishna Menon
(C) Smt. Vijay Laxmi Pandit (D)) Romesh Bhandari
95. The non-permanent members of the Security Council shall be elected for
(A) Two years (B} Five years (C) Nine Years (D) Ten years
96. Contract is a obligation
(A) Moral (B) Constitutional  (C) Civil (D) Administrative

97. When is the communication of a proposal complete according to Section 4 of Indian Contract
Act, 1872
{A) When it is delivered by the proposer
(B) When the person 1o whom it is made accepis the proposal
{C) When it comes to the knowledge of the person to whom it is made

{D) When it comes to the knowledge anvone in the common company of the person (0 whom
il 15 made

98. Under the Hindu Marriage Act, the spinda relationship extends im the line of ascent, 1o:
(A) two degrees through the mother and three degrees through the father
(B) three degrees through the mother and four degrees through the father
(C) three degrees through the mother and five degrees through the father
(D) five degrees through the mother and seven degrees through the father

99. The Supreme Court has set up a five-judge Constitution bench to hear petitions secking legal
recognition of same sex marriages. The bench is set up by Chief Justice of India. Who among
the following is not the member for the said constitutional bench?

(A) Justices Sanjay Kishan Kaul (B} Justice Ravindra Bhat
{C}) Justice Hima Kohli (D) Justice Y.V, Chandrachud
100.  The legal Maxim *Res ipsa loguitur® means:
{A) Things are not what they seem (B} Things shall remain as they were
(C) Things speak for itself () Things cannot be explained
XXX

%
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